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Determine the point(s) if any at which the graph of the function has a horizontal tangent line

18) f(x):x4—2xz+3 19) y=x+x

Find k such that the line is tangent to the graph of the function

Function Line
20) f(x)zxz—kx y=5x-4









				

Determine	the	points

()

	if	any	at	which	the	graph	of	the	function	has	a	horizontal	tangent	line

18) fx

( )

=

x

4

-

2x

2

+

3																																																																				19) y

=

x

3

+

x	

Find		k		such	that	the	line	is	tangent	to	the	graph	of	the	function

												Function																														Line

20) fx

( )

=

x

2-
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=
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-
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Find each derivative










Find each derivative
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1) f(x)=8x° 2) y=x+7 3) f(x)=17x"~15x 4) f(x):%
5) f(x)=7x" 6) f(x)=527 7) y:% 8) f(x):%
9) f(x)=3sinx—2cosx 10) f(x)=(4x+1) 11) y=7XH3x

12) g(x)=mtanx+8secx 13) y=x"*+ 21x%" 14) h(s)=s""-s
Find the slope and equation of the tangent line at the given point

15) f(x)=x'-3c+2; (26)  16) y=sinx; (r,0) 17) g(x)=—= ; x=1









			

1) fx

( )

=

8x

5

																												2) y

=

x

+

7																																	3) fx

( )

=

17x

10

-

15x													4) fx

( )

=

x

37

5) fx

( )

=

7x

-6
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( )

=

527																												7) y

=

9

x

2
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( )

=

11

x

9) fx

( )

=

3sinx

-

2cosx																													10) fx

( )

=

4x

+

1

( )

2
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=

7x

2+

3x

x

	

12) gx

( )

=p

tanx

+

8secx																								13) y

=

x

43

+

	21x

57

																																				14) hs

()

=

s

43

-

s	

Find	the	slope	and	equation	of	the	tangent	line	at	the	given	point

15) fx

( )

=

x

4

-

3x

2

+

2		;			2,6

( )

														16) y

=

sinx		;			

p

,0

( )
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( )

=

2

x

3
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		;			x

=
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